MY2H/HT series

1My 17 Q1 6, 625, g40 (R— /XU T—2 2 ATDEFLTIE, P.1402E TSR S

MY2H [F2—T7R&E|G-[X FO—7]

PG Q+z2hO—2
(LL) L
LA S SRR 4xoBEE< L EC
PJA 4AXMM_EM /5 — St oLDiE L
&r_zy Y i1 R B
NX R gl AiA K &l
= 4x2xX ATy b
E |
| 2|z ol
T ! oz .@
=z | =
NV 3 ¢
ZRE (TR TEER o
Zt MY2H40GDIEE
oLE H7RR  5yvav=-fi/ |GB)
2xP 1 2xP 2xP 1 2xP
- SRBREAT —NT57) N T RBREAT —/NT5)
® G by 0
7 ﬂgﬁ o507 G T
= o1z 9 _@@! $
o
\i% A ,Q""T ET SURL
AR T4 EE
TRERF T 2z hO—s lN,|
(mm)

Eay A|B|C |G |GB|H| L J LA|LB |LD|LE|(LL)|LW M| MM |N| NC|NE |NH/NT|NV[NW|NX P
MY2H16G| 80| 6.5| 3.3] 8.5/17 [28| 80 |[M3x0.5| 70/50.4/3.4| 4 |40 83| 7|M4x0.7|20{14 |27 | 2 [3.5[3.4/48.2] 5.8 M5x0.8
MY2H25G |105| 9.5| 5.4{10.7]|19.5| 37 |110.8{M5x0.8|100|71.7|5.5| 5 |49.6/ 123 | 9|M5X0.8|25|21.3|35.5| 3 |5.3|5.5|71.8| 8.5 4
MY2H40G |165[14 |32.5]15.5|31.5/ 58 [180 |[M6x1 [158|80.3|9 6175 |161[13|M6X1 |40/32.4/56.5| 4 |6.5/6.6/82.1[10.5) Vi

3K PA [PB|PC |PD |PE|PF|PG|PH|PP| Q |QQ |QW |[R |RR |RW | SS | TT |U |UU |V | X [XX | Y
MY2H16G| 40 |40 | 7.2 |2.8|3.7| 3.5 4 |5.1| 5.3/1562|16.4| 40 | 5 | 5.3|40 9.7[125] 4 |3 10.5[6 12| 5 | 160
MY2H25G| 60 |60 | 8.2 |6.6|2.7| 55 6 |7.5| 8 |198|20.4| 60 |5 | 85|50 |14 |19.3| 5 |4.4 |163|75|14 | 5 |210
MY2H40G| 100 | 70 | 5.5 |8.5|5 |17 | 9 |9.5|16 |312|25.5| 57 | 8 |11 53.5|21.5[354| 6 | 2 29 |9 23 | 8 |330

PE2 U U IHaR— FERLET. XMY2H16GOPD TSI RBABNE TSI EBUET,

1394



